The Missing Pound

3 students see a second-hand TV priced at £30 in a shop window.
They decide to buy it between them so they all ‘chip in’ £10 each.
(3 x £10 = £30 – check!)

So they buy it & leave the shop to begin walking home, well pleased.
As they leave the shop the manager returns from his lunch break to see that the TV’s been sold.
He suddenly realises it should’ve been priced at £25 rather than £30.
So the manager gives the shop assistant £5 (in coins) telling him to run after the students to give the £5 back to them.
As the shop assistant is running down the road he thinks about ‘pocketing’ some of the money.
Keeping £2 for himself he gives the students (3 of them) £1 back each.
Originally they paid £10 each, now they’ve got back £1 each meaning they’ve now paid £9 each for the TV.
(£10 - £1 = £9 – check!)

3 x £9 = £27 for the TV

The shop assistant’s got £2.
£27 + £2 = £29

We started with £30.
Where’s the missing pound???

